Repair

Parts

Electronic Unscaled Pulse Transmitters

Models
FT1

FT1E

FT1,FT1E,

Models:

PFT1E,PFT2,PFT2E,
PFT3E,PFT3,PFT4E

Models
PFT 1E
PFT2

PFT2E

3-09

IRP-068-11
PartNo.53401-068

% BadgerMeter, Inc.



ORDER INFORMATION: This repair parts bulletin shows an exploded view of the product with specific reference to those items
available for replacement. The item number and part number may change at any time; therefore it is important when placing an order
that a complete description of the part, meter size, model and serial number be provided.

ITEM NO. PART DESCRIPTION PART NUMBER
1 Screw, Fill Head #10-32 X 3/4 ......ooiiiiiieiiiee et 55058-225
2 (O] T 00 Y SRR 58852-001
3 GASKET et e e nne e e e ae e e eneeeaneeean 58855-001
4 Screw, Pan HA #6-32 X 1/4 .....oouiiieee e 55129-168
5 AC-DC Scalable Board Assembly (PFT-1E & PFT-4E) ......cccccovvviiiviiiiiiiiceeee, 62965-001
6 SensorAssy. Kit (Magnetoresistor Pick-up for F1E except 1/2" OP, PFT1E & PFT2E) 62704-002
6 Sensor Assembly Kit (Magnetoresistor Pick-up for FT1E for 1/2" OP).......cccccc...... 62719-002
6 Reed Switch Assembly Kit (FT1, all but 1/2" OP) ......occiiiiiiiiiiiceeee e 62704-001
6 Reed Switch Assembly Kit (FT1 for 1/2" OP) ....cccviiiiiiiiiiiieeceeee e 62719-001
6 Reed Switch Assembly Kit (PFT2) .....coiiiiiiiiiiie e 62704-006
7 Screw, Thrd FOrming #4-24 X 1/4 ....ooeeee et 55202-114
8 LAY =TT a1 SR e = 22562-004
9 Lower HousSINg ASSEMDIY .......eiiiiiii e 58875-001

10 Screw, Seal Fill. Hd #8-32 (For remote mtg, Turbo, Indl RCDL & Rt Angle OP) ... 32140-000
10 Screw, Seal (For SC-ER & Rear Drive OP) ........ccoiiuiiiiiiiienieiiiesee e 25361-000
11 Adapter (For remote mounting & right angle drive Units) ..........ccccovcveeiiiie e, 58864-001
12 Adapter (For use with SC-ER & Rear Drive OP meter units) ......ccccocecvveveeeiiinnnnnnn. 62087-001
13 Housing Assembly, 2" & 3" Turbo meter (Includes Magnetoresistor Pick-up) ...... 59670-001
13 Housing Assembly, 4" Turbo meter (Includes Magnetoresistor Pick-up) .............. 59670-002
13 Housing Assembly, 6" Turbo meter (Includes Magnetoresistor Pick-up) .............. 59670-003
13 Housing Assembly, 2" & 3" Turbo meter (Includes Reed Switch Pick-up) ............ 62947-001
13 Housing Assembly, 4" Turbo meter (Includes Reed Switch Pick-up) .......cccccueenne 62947-002
13 Housing Assembly, 6" Turbo meter (Includes Reed Switch Pick-up) ..........ccc.c..... 62947-003
14 Lockwasher, SENSOr ASSEMDIY .......c.eiiiiiiieiiie e e e 22562-004
15 SCrew, SENSOr ASSEMDIY ....cciiuiiiiiiiiiiiii et 55089-114
16 Gasket (EXCEPE 1/2" OP) ..uuiiiiee it e e e et a e e e aenraa e e e e enes 33790-000
16 Gasket (FTI) fOr 172" OP ...ttt 33140-000
17 Housing Cover (FT1) eXCept 1/2" OP ..c.eiiiiiiiieiie e 32569-001
17 Housing Cover (FT1) fOr 1/2" OP ..o 62716-002
18 Screw, 1/4 - 20 x 5/8" (FT1) except 1/2" OP .....ccociiiiiiiiiiieeieeeeec e 55048-278
18 Screw, (FT1) fOr 172" OP ... 55058-220
19 Lockwasher, 1/2" OP ONIY ......eiiiiee et e e s aeeeenneeeenns 55294-009

£

MANAGEMENT SERVICE

1S0 9001

Please see our website at
www.badgermeter.com
for specific regions and contacts.

Copyright© Badger Meter, Inc. 2001. Allrights reserved, all data subject to change without notice.

Due to continuous research, product improvements and enhancements,
Badger Meter reserves the right to change product or system specifications
without notice, except to the extent an outstanding bid obligation exists.

BadgerMeter,inc.

P.O. Box 245036, Milwaukee, WI 53224-9536
(414) 355-0400 / (800) 876-3837 / Fax: (414) 371-5980
www.badgermeter.com

®



